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Line, Segment, Polygon
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tuple = (x,y) *T* 7V Naxi'M WM 0TI
QYNN2 NI0AIDNAN (NIY1190) NI71VON1 DONNN DX 71700 NR7Nnn
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Lines example

20.0
17.5 A
Line:(3, 5.5), (5, 8.5), color red 15.0
y = 1.500x + 1.000
Line: (3, 5.5), (8, 2.1666499999999997), color black 12:31
y = -0.667x + 7.500 Lo /
seg False e
Segment: (2.5, 10), (15, 15), color y 751
y = 0.400x + 9.000
5.0 A
— y =1.500 X + 1.000
2.5 A — y =-0.667 X + 7.500
y = 0.400 X + 9.000
\ y =-2.500 X + 23.500
0.0 T T T

0.0 25 5.0 7.5 10.0 125 15.0 175 20.0

A€E>» Q=
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Lines example

14 4

12 A

Polygon: a
{'A': (5, 5), 'B': (10, 8), 'C': (12, 5), 'D': (10, 2)} B(10, 8)

Perimeter 18.87300634061858
Area: 21.00002 6

C(12, 5)

(10, 2)

0 2 4 6 8 10 12 14

A€ Q=0




ek
[\ X3

A

=¥
/

Line mponnn

"yTnn pana” q12'n nmMp

NNYTNI NIYXAY? ,0'107 N

'D"19IN 190N W' 17 2 TANT7 [N D 12TT7 NMINA'Y? NN2ATNN »

AY' IR NN NI ‘MY e
y = mx + b AN 7N NNON NX DY'TAan m, b 0"VNION *
(b IX m) D VNI9NN TAX DY TNXR DT °

70 DX NNNRNL Y 17 DNTAN Y IN AI7'Y 720 'RIAIX e
7Y b -1 m NX QAYUN' NITIZ] 'NMY 727 OX NNAIT? .0"MYOXN DIV'ONNN
| |

YN 170 NNoi

NN NIV?7 W' D'YATIN DIININ DX 72'7 X7 'K1AN DX °
.TypeError 210N IX 272 A10N0 ,NN'XNN NYTIN DV raise Exception
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"vTnn pana* q12'n nmMp
t 1 I import matplotlib.pyplot as plt

NNWTNI NN ,0'070% N import r{lath
ROUND_Dig = 5
class Line:
def _ init_ (self, xyl=None, xy2=None, m = None, b=None, <color = 'black"):
def draw (self, canvas = plt):--
def _ str  (self):

def equation{self):

def get equation(self):

def set_color (self, color): --

def is inline (self, xy):

def is_perpendicular (self, line):--
def get perpendicular (self, xy):
def get y (self, x}:--

def intersect point (self, line}):

def is intersect (self, line}: .-
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nieiisialrivl7 i kalale

N71Y90 Ninn ATINNN DY

DXNN2 910 X771 N7NNN X977 W' NO'9TNI axes D'WAN VAN N72PN N71Y9N
y=mx + b 2¥'n NNOI1 DY X170 DA NO'STN N7IVON .Y 7¢ D'VNI9Y7

.C Sharp 2 toString -7 NNT LVP"AIXN 'VI9 DY NTINNA NY'TRN N71V9N
D'"'ONNIY NITIZIN 'MW '97 17N NNON 7¢ D"'9XNN NX N7NNNN N71Y9N
17N NNOII DY NTINNN NY'TAN N71V9N

.NT YIX] [MONNN NX NDTYNI 1PN 7w yax n7apn n71yon

false nanX .Ipnn 770 X'N DX true NY'TNNI tuple NTIRA N72pPN N21V90

VP"AINT 2X1 17N DX true N'TNNIL Y 7Y VPR N72PN N7IVON — ? X' DXRD
false nanx .'"ndnn

NTI722 N2IVI 'NDIN WY 2XID W DY line 0R™MAIX DTN NTIRA DN7an N721Yon
NNpnnY

YN 7Y y Y NIX NTNNE X )Y N7 NTIpon

D'7'apn DN DX .tuple JIN'NN DT DX DTANEY! IR 7w 0paIR N7agn naimnn
None n1'TNn X'

false naNX .0'>NN1 DIPN OX true NY'TNNEY! 1 7 OPMAIR N72PN N71VON

draw

_str
Equation
get_equation
set_color
is_inline

is_perpendicular

get_perpendicular

get_y
intersect_point

is_intersect
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Line np7nnnn nvNI' npnnn

7V 2TAM NI'N7 2N YOR LR 7V NITR MY A DINNN Y IR ' YO e
DT 'Y T

17 NN'RNNN YN NNOoI Nn'p YOy 707 ,90101] °

7010 wim'y NIYyY? ¢! Line n7nnnn NI np7nnn — 0017 nnivun
AN TIR AIND7 X721 YN 7Y NN
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from Line import Line
import matplotlib.pyplot as plt
import math

class Segment (Line):
def init (self, xyl=None, xy2=None, color="black'}: --

def draw(self, canvas = plt):
def length{self): -

def is inline (self, xy):

def get y (self, x}:--

intersect point (self, seg):




Segment apPnn

"yTnn pana” Jn'n nmMp

NRWTNI NI'IXNY? ,0'01V% Na

A71Y90 Ninn DTINNN DY

YR 17 N0 NIX 1 TAN 'RK1aN 90N .AXpPN NIT2 'MW N0 7V yop Nl n71yon
NYN'N 72U NRDNNA wnnwn? ¢ Line n nwAI ng'7nnn - 1% m'w

JOPN 7¥ DMUNTD7 DRNNA YO NO'DTNI axes D'YIN VP'AIR N7ApPN N71YON
.y=mx =+ b A¥'n NNOII DY X171 DA NO'STN N7IYON

VOi/n NIXK DX N'TNNI1 NAYNN n71yon

17 m'w .false NONX .yupEnNn 770 X'N DX true NY'TNNI tuple NTIRA D72 N71V90
JOPN DINNYT YINN X YD 2V NN 220 nTian a7 -

None 'TNN7 W' Yo7 YINN X DX .Y 7 y 1V DX DTN X Y N7an NT7oN

DX .tuple NN NTIRI DX D'TANIVYORAY! IR 7W OP"AIR D72 DTINNN
None N'TNNn X' (VOR7 YINA IX D'7'271) D'ONN] X7 D'OR " AIND

'X12

draw

Length

is_inline

get_y
intersect_point
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axes_1.plot(4,7, 'bo')
print(linel.is_inline((4,7)))

from Line import Line
from Segment import Segment
import matplotlib.pyplot as plt

\ (0.0]

®

X, y = linel.intersect_point(line4)
axes_1.plot(x,y, 'go')

W W N NN

=

linel Line(xyl=(3,5.5), xy2=(5, 8.5), color="red")
line2 = Line(m=0.5, b= 3, color='y"')

line3 Line(xyl1l=(3,5), m=2)

line4 = linel.get_perpendicular((3, 5.5))

w
%]

seg = Segment((2.5,10), (15,15) , 'y")
seg.draw(axes_1)

B w

O 00 NO VT WN
ul

print("seg",seg.is_inline((1,9.4)))
axes_1.plot(1,9.4, 'ro')
print (seg)

# prepare figure

fig 1 = plt.figure(figsize=(6,6),dpi=100)
axes_1 = fig 1.add_axes([©.1,0.1,0.8,.8])
axes_1l.set_title("Lines example") : Xy = seg.intersect_point(linel)
axes_1.set_x1im([0,20]) 4. if xy:

axes_1.set ylim([0,20]) ‘ X,¥ = Xy
print(xy)

axes_1.plot(x,y, ‘go')

00 ~J

3
3
3
3
3
3
2
36
3
3
3
3
3
3

\

linel.draw(axes_1)
line2.draw(axes_1)
line3.draw(axes_1)
line4.draw(axes_1)

X,y = (51 11)
axes_1.plot(x,y, ‘co')

line5 = seg.get_perpendicular((x,y))
print(linel) line5.color = 'c'
print(line2) j line5.draw()
print(line3)
print(line4) 3 axes_1.legend(loc=0)
plt.show()
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Lines example

y 20.0
Line:(3, 5.5), (5, 8.5), color red
y = 1.500x + 1.000 17.5
Line:(®, 3.0), (10, 8.9), color y
y = 0.500x + 3.000 13.01
Line: (3, 5), (8, 15), color black
y = 2.990x + -1.000 2]
Line: (3, 5.5), (8, 2.1666499999999997), color black ool //
y = -8.66/x + 7.500 ®
True 751
seg False
Segment: (2.5, 10), (15, 15), color vy 5.0 4 — y=1.500 X + 1.000
y = 0.400x + 9.000 2000 1000
|"-.|DI'IE 2_5-/ — y =-0.667 X + 7.500
\ z _ F)zlflsot?oxxt92‘(3):)5000
0.0 T T T T T T

0.0 2.5 5.0 7.5 10.0 12.5 15.0 17.5 20.0

a€> $Q= =155 y=18.90
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7> .(vertices) D'TITI 7w (Dictionary) [17'n NIYXANR] |''OIXN V7IXN °
wun? (A, B, C... NIn N9l tuple NTI71 XN T 7137

*A:(2,3),B:(4,5), C:(3,6)

]'N NIY7¥N) Segment a10n X'NY (edge) V72X nn'p D'TIRTIR AW 7D | °
(V71xnn 1oxnn 77N

I'N .Line, Segment NIp7NnN2 wnnwn? 0d'72Y np7nnn NOTAN IX7? °
AN TR 2INDY
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rom Line import Line, ROUND Dig
from Segment import Segment

class Polygon:
def _ init_ (self, wvertices, color = 'black’}:

draw (self, canvas): -
draw_vertices({self, canvas):

get height (self, v, b1 , b2): .-
get edge (self, vi, v2):--

perimeter (self): .-

triangle_area (self, a, b , c):

area(self):

is simple (self): -




Polygon miponn:

n71Y9n Ninn nTinnn QY

D'TIPTIR "OXNN NN 7NNNNA 'R1aN .tuples a1on (D' TIRTIR) NITE2 79 an'wn a0 'R1an
'N1QN 7271 Q0N .NN'YN 1TOoN '97 A NIXA 7'NNNN NNSNA TI7TI? 727 N1 ,vertices
127190 7w yax

NNON 09TIN TIPTIR 701 .|12*719N NX NO'S9TNI axes D'WIN LP'AIX N7 N71V9N
woON7 W' .annotate() - pyplot 7w N'¥j1192 wnNwN? Ymim .nTipan Dy DI TIpTIipn
draw_vertices N71y921 NITV1 N71V9N .V1NVI'XA NN7V9N7 120N

.C Sharp 2 toString -7 NnnT LVE"AIXN '0ID DY NTINNN A'TAN N71V9N
(N'>W1 NTIFAN DY DX [21) D'TIRTIRPN DX N0'9TAN draw 7 1Ty N71Yo

N?71YonN .b1-b2 Y7x¥n v TIRTIR? N2IAN DX DTN D' TIZTIZ QWY D72 n71Y9n
.N2IAN DX NIINAN segment 7¢ OPMAIXK N'TNN

.segment NI Y7¥N DX NTNNI(A’, ‘B’) D' TIpTIR YW NINNSN W N7apn n71y9n
V21300 7Y gp'an NN DTN N2AwNN N71V9n — qp'n
.DN7Y NOWN NX NAYNNI D'TIZTIZ AWIY N7 n71V9n — w2iun nuw

QYN (NIDNNI NIYYX 'R OIS Y71¥N XINY NN1N]) YV2IXNN NOYW DX NAYNN N71Y90
.D'Y1UN7 [12'72190 NPI7N NIYXNXRA NIYYNT "X NOWN

JIDNN) NIYZY 'R — VIYD [1A'719 NRIN [12*7190 DX NPT N71Y9N

'X12

draw

__str__

draw_vertices

get height

get_edge
Perimeter
triangle_area

area

is_simple
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poly = Polygon (verices, 'b")

print(poly)
1 v from Polygon import Polygon height = poly.get_height('B', ‘A", 'D")
import matplotlib.pyplot as plt height.draw()

height = poly.get height('D', 'A",

fig = plt.figure(figsize=(6,6),dpi=100) height.draw()
axes = fig.add axes([0.1,0.1,0.8,.8]) height = poly.get height('D', 'B"', 'C")
axes.set title("Lines example™) height.draw()
axes.set xlim([©0,15]) print('Perimeter', poly.perimeter())
axes.set ylim([©,15])

2
3
4
)
6
7
8
9

print('Area: ', poly.area())
verices = [(5,5), (10,8), (12, 5), (10, 2)] print('simple polygon: ',poly.is_simple())

poly.draw(axes)
plt.show()
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Polygon:

{'A': (5, 5), 'B': (1@, 8),
Perimeter 18.87300634061858
Area: 21.00002

simple polygon: True

'c': (12, 5),

AX 00 NINXIN

'D': (10, 2)}

Lines example

14 1

12 A

10 A

B(10, 8)

C(12,5)

0, 2)

€D Q=
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